NI ey -
/ hmfudngy, A ) ) r\

5

" pmin]mpn]

ymhmh¢my duhmn[ly

(pquopm dfimedub)

1% O » /¢ M. : u,.,_ N_M ymbmn]my ymfdwddmh pmldwhinghmpbmh pffmhdmh
\% g IO \ :BJdim} weeougmmm nmichulmdyhmpbmh nmn Imymelunmg
dn lrudmh nyelema Suudpm Juynniulehuhinghdmy parﬁawaan mhmdy 1 qfdqpnmpmdygmp qdqgympimb dyhdmh buhdimpmdg

Inlmp 9gp ] mupbmh Thmpmdmhd pfmhmmpmuy yYédn Junplumnmn]¢m gmfdiuhidnhmpbmh pdfmhdmh

-l 77 000°06% Unhubmlghmamoyg  pudngl nmpdimpmdwn dghdmp nqnbyd lubymbmunb ddmlulr 0 NN 000°0Z

qmdlt 77 000°00z Unhrubmlnhmam opg  nrudhgl nmpdtmpmdn qdghdmh nqnbyd n lnufb hudmlul 0 N 000°0Z-100°S
Jqmdl 77 000°0sy Unhrubmlnhmam

dnndm mpbm m

‘0001 Unfrubmbmhn 9,6F - %<1 . dmyh nmpdirmpmdn Jhdmt - dghdmh nmhmnyununmlnufd ‘aqpbdd hudmlul n 0N :H_Maww:_g g ?ﬂ Q%MMWB.M
qmdl 77 000°05z UnhubmlInhmam opg'e  prudhgl nmpdimpmdn qdyhdmh nqnbyd trubymbmudnb dpmdl 77 000°005C
qmdlt 77 000°00¢ UnfrubmInhmam opg  prudhnnl gmpdimpmdn Jdyhdmh tnutb lruBymbmdnb dpmdl 77 000°005°C
% ¢'¢ - 0 Umyh gmpdimpmdn Jhdmy - dghumh gmhmbuambn pmhmnqunpumminuf® ‘aqybifd hupmdl 77

% SZ°0 - %1°0 Unhdmh pmhmnquymminufd n nqybd hudmlul a nn drmnmban Th

Hdmuiub gmhdiimpmdn g gyt dhbu
1 muhhdmh?my ‘gmhmnpm 3 puohdmyh o4 £°1 - 0 Unhdmh gmhmbuambn pmhmnqunpunminul® ‘nqpbyfd hupmdl 77

Umlult 4.0 000 0ST — 00€ oo il
amull > 00000001 — 000°0C

pmhnqdmumn 9,17 - % 0 Unpdhudiimnuhug
‘¢ mdd prwhy nmpdmp 3 duhmdmny pudmgl Jughdmh pmhmnqupunmlnuly, n nqnbly

:Ugnhigmub mnptnp hudgnp 1uingh mim fudb mipnm ng dufmdnny nfmy Jughunh mimnganm tu b dnpymupfmm

“hm?midmnmhmy nfpm duRZymdmif ddgppuudmyh fdmpubmdpmy (nudhnlt pmfdwlmhum)fdmph pmudmy himh
ymphdmnmn ghdmh n Jdmpubmnuhun mudhngl Jdgyndam Imfyundm hng “hmZmdmnmhmy nfpm dulymdmidal
tlgymudmyph JUmprebmdpmy (prungl ymldwlmham)fdmyh pmphdmnmn Jhudmh n Jdmuubmnuhun ‘Yumpud dfmp Jhdmh

nyjam g —| nghpmp ympdimuymug

“dqhdmh nmhmluamhn <dghdmh pmhmnyumpmminuf® ‘dghdmh nqpbyg tdnhdmh bwehdmymdg

ddggymplmin gmpdupmhdmp hy ddghdmp bopdimmpmdm Ggplal §-gg@ AU «NF1dE»




